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4.1.2 HEEISEARAT RS R
V=V W O g KANEEFE 734 2 5 4-2 KNI RT,

(Ss=A, 7K3)

BEAT—I o. 2.0(m)

BE@EAT—L 0. 10. (m/sec2)

828 4.30
L la.23 L l4.28
: ;
L l4.18 L_l4.23
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1 ‘
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4.0 |4.08
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_|3.98 L_|3.99
B |
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__l3.98 L |3.96
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__|3.95 L_|3.98
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9 4-2 V=V W O e KANE FE 554 K] (Ss—B2) (3/13)
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:
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L |5.73 3_5.34
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L J2.79 L f2.83
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BEEIT—I 0. 5.0 (m/sec2)

I PR l2.10

L 2.07 L _|2.05

: :
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:
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L l1.78 L 1.7

178 L {1.77

1.7 177

178 177

177 Ll1.78

I ST - T 178

L 2
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2.4 L 12.84

L lz.48 L |2.83

|2.48 L 12.83

i |2.48 f_z.sa

|z.48 l2.83

1

{z.48 L l2.83

L |2.48 L |2.82

248 L]2.82

L lz.48 L_lz.81

f_z 48 L _l2.81
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{3 e
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(Ss=C2(EW), 7/KF)

BERAT—I Q. 2.0(m)

. . m/ )
BEERT—IL o 10 m/sec2

__3.24 S __3.24
3_3.21 L a2z
Lla.s §_3.19
317 [ ls.18
{s.18 Lls.is
Lls.s ,_a 19
L ls.is Lls.1s
L_|3.19 L ls.1e
L ls.18 Lls.1s
L 317 L1318
L 13.16 L 3.17
L7 L3.17
L7 L1317
L 13.17 L 317
3_3 16 L 13.17
i_13.18 L 3.17
L ls.1e F1s.17
Lls.1e {318
i L [ § T :_3 18

BT (m/s?)
(Ss—C2 (BW), #hiE)
BB —Ib 0. 2.0(m)
BE@@IT—IL 0. 10. (m/sec2)

e —2.50
L 279 L l2.50
P ;_2.50
§_2.79 f_z.so
2.8 L lz.50
2.8 ;_2.50
3_2.75 L lz.50
L1278 i lz.50
é_Z.'?B L l2.50
3_2.77 §_2.50
L7 Llz.50
Llzm Llz.s0
) ]

Lz L lz.50
L le.78 L lz.50
E_2.75 §_2.50
L 2.7s L lz.50
Lo z.50
274 .50
tloga i lz.50
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(Ss—C3(NS), 7K-)

T WS ———
L 3.14 L ls.12
L |3.08 i_a.os
i_a.oz 3_3.00
f_z.ss 3_2.94
L lz.88 f_z.sa
E_Z.BZ Llz.e2
Ll2.7 L1275
E_z.ss L _|2.69
f_2.54 L|2.64
L |z.61 L |2.61
257 |_|2.58
Lz.52 2.54
2.8 ]2.54
5_2.45 2.55
12,47 ]2.56
5_2.49 3_2.56
Lle.52 {z.56
P Llz.57
(Ss—C3(NS), #$hE)

T __2.46
Ll2.43 i P
Lle.as §_2.46
P 5_2.45
L 12,42 Llo.as
L2.42 5_2.45
3_2.42 Llz.4s
L1241 P
_|z.40 L 12,44
| |z.39 L l2.43
{_|2.39 L lo.43
L l2.38 Llz.az
] ;

L 2.7 Llz.az
L l2.38 Llz.a1
5_2.35 5_2.41
_|2.35 5_2.40
L1234 (- 12.40
L |23 I 12.39
: 33 [ L lz.39

% 4-2 X

BEAT—IL 0. 2.0(m)

BEEAT—IL 0. 10. (m/sec2)
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V=V 87 D Fe KRN3R FE 43 AR %] (Ss—C3 (NS) ) (10/13)
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(Ss=C3(EW), 7/KF)

BEAT—IL 0. 2.0(m)

BEERT—I 0. 10. (m/sec2)

285 ________ 285
L lz.82 L lo.82
L 12.79 L 12,79
| .
—fz.78 L 12.77
L1274 L 274
2.7 L 2.7
i _|2.e8 L |2.e8
L 12.65 L_2.65
—2.62 Lle.e2
i l2.59 L |2.59
! !
L l2.55 L |2.56
L |z.50 L lz.52
L|z.48 12.48
Ll2.41 Ll2.43
_lz.38 L2.40
i |2.38 E—Z-SB
2.4 l2.35
L 12.33 L_12.33
P S L z.30
e 2
BAT (m/s?)
(Ss=C3(EW), #AiE)
BEAT—IL 0. 2.0(m)
BEEAT—I 0. 10.  (m/sec2)
4 - .51
: j
L {2.24 12.51
L l2.24 __|2.50
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